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1. From the alternatives given under each bit, choose
and write serially the correct answer along with its
serial number against each bit : 1x15=15

g6QUR HEYYER QUAIRAS! IRFYLRQ A0 AQQ AR
QA IS° g6 FEggR 9P ANyl ARG FIPIER Qe
Q2 :
(a) From the following, the leap year s :
Q6919 RN ALY 26T :

(i) 2017 (i) 2018

(i) 2019 (iv) 2020
(b) The yield from 5% stock at 120 is :
- 5% aqa 120 o Qo6 9Id a6s :

(i) 4% (i) 45%
(iii) 5% ) 5%%

(c) The present value of a perpetuity of T 800
per year at 8% p.a., is:
QTR 8% 2196a T 800 Q IR CARAIQ FFIAA TR
269 : :
(i) < 8,000 (i) T 9,000
(iii) % 10,000 (iv) 9,090
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(d) If the determinant of a matrix is zero, the
matrix is called :
A% 99 A59a AdILe g/ 249, 6969 69 AITT

&6S : A

(i) Row matrix (i) Column matrix
UG ALY a9 QI9g

(iii)  Unit matrix (iv) Singular matrix
QR AlIge dgRia Age

(e) The order of the following determinant is :
f6qIe RdIARa 20Q 26T :

1 a bc
1 b ca
1 ¢ ab
(i) one (i) two
@ |
(iii) three (iv) four
o Q@

(f)  From the following, the relative measure is :

Q6QIB FRIQ 2I6ARR AIRT 2T

(i) Range (ii) Quartile deviation
| oQalree 99ie

(iii) Coefficient of mean deviation
Al 9Queq QeI

‘(iv) Standard deviation
AlIea Igye

BMS (Commerce)(Set-A) 3 P.T.O.
805 R/805 E/805 DE




(9)
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The mean deviation of 3, 4, and 5 is :
3, 4 9e° 5Q a1} QYT 6T :

(i) (i)
(iii) (iv)
Coefficient of standard deviation, is :
AIeR IR gIIw 26T :

Blw MW
Wl N

Standard deviation ”
_ . Mean

AR QL

T
(i) (Standard deviation)?
IR Ggita 96

100

x100

Standard deviation.
Mean

AIRR IS
Al

(iii)

Mean deviation
Mean
Ald IS
Qul
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() Lack of symmetryis:
QAR QILIQ YRIN, LIFI LRI :
(i) Mean deviation
Ald SQYQ
(ii) Standard deviation
AIRR QS
(iii) Skewness
odye
(iv) Kurtosis
el
() Kurtosis measures :
RQ90l Q1T B4a Q6Q, GITl IR :
(i) Shape of the frequency curve
QARG PR AR
(i) Peakedness of the frequency curve
QARG R PAAIG!
(iil) Symmetry of the frequency distribution
QARG JRARELRR AATRS!
(iv) Coefficient of variation of a distribution
@ J9Q4Ra SR gl
(k) If the values of two variables deviate in the
same direction, then it is called :
dQ YRG0 ORQ JRIFER YRl GT6R TI0 0B, 6069
NRIQ Qeldig :
(i) Negative correlation
AR ALAAR
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(i) Positive correlation
UFIAS ALAAR
(iii) Perfect negative correlation
g Q8Ige ARANL
(iv) No correlation
AYANR V1R
()  The value of a,, in the following matrix is :

Q6QI8 AIGFER 8, MY 26T :

9 53 2

A=8 7 3 -1
210 4

G o (i) 1

(i) 2 (iv) 3

(m) If each element of a particular row of a
determinant is multiplied by a constant ‘K’,
then : :

g8 9@ HdIgea Y FR UIFER 29I Y6euR
QUIQIeQ 9@ Yo, 'K' QIAl Q8e @QIQI, 606% :
(i) The value of each element is multiplied
by ‘K.
9604 AIRIe] gmi ‘K’ gél 6a1aaing |
(i) The value of determinant is multiplied
by ‘K.
adiaea gt ‘K g8 6214 |
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- (iii) The value of determinant is increased

by ‘K.
adioaa ga 'K' 98 94 |
{iv) The value of determinant remains in
unchanged.:
2dI9eq GRY 208 962 |
A man invested ¥ 14,400 in ¥ 100 shares of
a company at 20% premium. If the

company declares dividend at 5%, then his
total income is :

60l @i 100 o&2 2ra6a @68 4@ 20%
amieq I 14,400 SR6QI0 Q6m | 99 692 @it
99031 5% AR ANH 6AITC AT, 6969 VTR
691G 20 629 '

(i) 500 (i) T 600

(i) T650 (iv) %720

A 2 x 2 matrix, whose elements are given by
a =ixjis:

q@ 2 X 2.9199, 12 QIR a,= i X]jQQl
8100 24, S1el 6eR

o (23 w(?3
(i) G i) (iv) (; f)
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2. Answer the following questions as per instructions :

1%15=15
AINYE 99JERq 2@ AFERd QU Q2 ;
(a) Express each of the following in one word /
term: ‘

FORYS g6ouRq 6aIEN RGN 4R/996a gRld

QA :

(i) A statistical technique, used to analyse
the relationship between two or more
variables.

4@ 98GR geale 6alaR, AIT YR @l
G6OINR RFIAT FUYER ANNR F6EVE QIR
Mege 99 |

(ii) A matrix obtained by deleting a row or
a column of a matrix.
6QlIGN QTR IR 9a @Al N G IR
ANl J6Q AYR 62R2Y AT |

(iii) The party to a bill of exchange receiving
the payment.
4R TR6AL 9ga 28 gad @gael OF |

(iv) Another name of quartile deviation.
0QaIrae QTR ARY IR RIEl |

(b) Answer each of the following questions in one

sentence : _
PORYC Y6RIR YIS QR 6615 SREIN QIRYER
Q2 .
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(v) What is a perpetual annuity ?
o0ee AT @'4 ?

(vi) Give an example of positive correlation
between two variables.
GRG OF FIRINEQ UFICR ALAAIA IR AL
Q@2 1

(vii) Calculate the coefficient of mean
deviation of a distribution whose median
is ¥ 30 and mean deviation from the
median is ¥ 15.
@ J9Q4R, QIgia due T 30 & Ay
Qe T 15, QI2IQ Ak YQIGR YSlIw FQUEI
@ |

(c) Rectify the underlined portions of the
following sentences :

QNGO ANYLR6R AR 6T &g ACHUR

@ :

(viii) The present worth of an annuity of
% 1,200 p.a. for 10 years at 12% p.a.,
compounded annually, is ¥ 6,879.

[Use (1.12)79=0.3221]
a9g T 1,200 2969 @ Q@q1a 10 o86q,
Qdg 12% 9998 QI QAR WIS FRY

- ¥ 6,879 26 |
[eueaiq @@ (1.12)719=0.3221]
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(ix) HIf two rows of a determinant are
interchanged, then the value of the
determinant is zero.

e 9Q DLITQR 9RT AP 2ARERR SULI
6069 692 TINeQ RY a4 29 1

(x) The appropriate measure of dispersion
of a frequency distribution with open-
end classes, is standard deviation.

9@ Qg9 gI8 Q62! SInIae J8eLea
QAUYS SRS A19Q, AIFR IS 26T |

(xi) Stocks are partly paid up shares.
. ARILR LIS QUES IR & 26T |
(d) Fillin the blanks :

LR A8 !Q :

(xii)

diagram is a diagrammatic
method of studying correlation.

08 9@ d9d9a8 2R A
0QURG 26S |

U (xiii) In a symmetrical distribution mean,
mode and median

QR AATe RRERER FIRI, QIFR G YR
6IRQIAIG |
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(xiv) The

(xv)

of a non-singular matrix =
Adjoint A .

|A]
@ FATRIQ AITeR

eeae A

|A
Fora skewed distribution mean
is greater than mode.
IR 0RQLRER Al YR|R 019

2R 99 |
Group—-B
8 - QUG

Answer any eleven of the following questions within
three sentences each : o 2x11=22
geeiag Per/e Qlaueq QIS A 99;1%1@ ca6xlad
9IRG 999 Qe @ :

If the true discount on a bill of ¥ 540 is

T 90, then find its banker's discount.

(a)

(b)

(c)

540 o@IQ 9@ 24a g9@ 9! T 90 626w, YaIQ
ST QB! 9QUE Q@A |

How is annuity due different from annuity
immediate ?

QTR1 624, QTR G/ 0l FAR @R ?

Find the cost of 10,000, 5% stock at 110
(brokerage %).
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¥ 110 @@6a ¥ 10,000 oI 5% A/ QA

~ -1
3994 @ | (IR 10

(d) Give one example each for matrix and
determinant.

159 6 Adigea 6915 RSN QRIS T |
(e) Evaluate (9ny $Qé @) :

(3 2 7}_(—2 0 8)+(10 7 -5)
4 2 1)\ 173 4 4 3 6
(f) If the first and third quartile of a distribution
are 34.32 marks and 78.82 marks
respectively then find the quartile deviation.
A2 9@ CRR9RQ galf 8 Go1a 9gdIreR QaIgen
34.32 @A 9e° 78.82 9Aa 99, 6062 YLIQ .
0QaIraR GQIe DQUE AR |
(g) Write the formula for calculating mean
deviation from median for a discrete series.
96 598 64416a FAIRQ MY BQYe fda QaRIa
' 9g 6ad | |
(h) State any two merits of standard deviation.
T QIee TQI09 696416 9RT AURIRS! 6RE |
(i) Write the formula for calculating Karl
Pearson's coefficient of skewness.
o Jueees odie qUIe @de A9 9e%
eRd |
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() Show a scatter diagram for negative
correlation.
QGRS ALAALQ N8 BFYg TQeQ Q4 | (
(k) What do you mean by discounting a bill ?
28 AP1R08 AL @'& QI ?

1 0 0 1

- 10 0 1 "
GA=|q _1|9&B=|{ o) 666 AB="

(m) Write the names of one absolute measure
of dispersion and one relative measure of
dispersion.

Jef Sgad 6 CUTR SRS 68T ERGIN
AR QP 6RH |

(n) How much money will be realised by selling
310,000, 4% stock at 99.

10,000 o@1Q 4% |Q 99 QA Tf FER 6R6S
ol daaiae ?

4.  Answer any six of the following queshons W|th|n
six sentences each : 3x6=18
J6e4aq 276 IREq A1Fe of 29adie caealad gad
J9Q 2@ @2 :

(a) The banker's discount on a bill of ¥ 1,650
due, a certain time hence, is ¥ 165. Find
the true discount.

@R Aag A99 96Q, 629 6918 T 1650q 99a
QYeaw @%l T 165 26C | ¥LIQ 9o |9F! 89aé
2 |
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(b) 9,800 are invested partly in 9% stock at
75 and the rest in 10% stock at 80, which
gives equal amount of income from each
stock. Find the amount invested in 9% stock.
691e 9,800 ¢FIQ &2 &°8 9% AREQ 75 26
Ne° Q@ 29 10% |q6a 80 9qsq @a6dI
AR, 6062 9% ARER TFEAIT FAULIRK
UFAUS FQUE QQ |

(c) B buys a piece of land at ¥ 3,00,000 for

which he agrees to make equal payments at
the end of each year for 10 years at 10%
interest. Find the amount of each instalment.
[ Given (1.1)71° = 0.3855]
B 4@ &8 % 3,00,000 6 @418, QI2l QIx 62 g&
Qd 661969 AAlIe @36 692 10 o8 adie 10%
QI 2R 69RNF 9B AAB | 606 YR @3
IRy 5908 ea | [ gea (1.1)71% = 0.3855]

(d) Find the adjoint of the following matrix :
36qI8 AI59R 1ee9d od Qe :

1
A=|2
3

W wmNn
SN W

(e) Solve by Cramer's Rule :
QAT FAC AQAIER AANRIIR XD
2X +3y =3
3x—2y =11
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(f) Calculate Karl Pearson's coefficient of
skewness from the following data :

26018 QQIeg fnduedes IR QI 2
@ :

Mean (qux) = ¥ 3.28

Mode (988%) = T 3.00
Standard deviation (cliee @g¥6) = ¥ 1.35

(g) State the implications of coefficient of
correlation for the following values :

@eglc_n; JRIZR! IR, ATANe QI LG TG0
28 6 :
i r=+1 (i) r=0 (i) r=-1

(h) Calculate the mean deviation from mean for
the following data :

Q6QIB QAIAR AIKOIQ FIIIY QYL T8 QR :
Values (X) : 10, 20, 30
Frequency (y) : 4, 10, 6
Group-C
Q- @
Answer any four of the following questions :
. o L@ 7.5%4=30
FIRTE 6a6a19d QIS g9 2@a @2 :
5. Find the amount of an annuity of ¥ 3,000 for 12
years, interest being 3-;—% p.a.
[ Given, (1.035)'2=1.511066 ]
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< 1 < —
QAR 3E°/o QR 2Ie6q 12 @g6a T 3,000Q 6qlichd

AR 6719 VGG FQAS 9 |
[ ge®, (1.035)'%=1.511066]
6. Solve the following equations by using matrices :
Q6B AMRAGYL] 1T MR AR ATRIIR }Q
2x +3y =13

5x =y =7
7. From the following distribution calculate the quartile
deviation :

3608 I099Ra 9QArde 90 Ada AQ ¢
Weight (in kgs) :0-15 15-30 30-45 4560 60-75 75-90 90-105
Number of students: 8 26 30 45 20 17 4
8. Prove that: (9914 @@ 69) :

1 1 -1
a b ¢
2 2 2| =@ -O(c-a)

9. Calculate mean and standard deviation for the
following data :
Q5418 QUIRA Ik 6 QIR Q@}i@ ada Qa
Wages (in %) : 200 250 300 350 400
Numberofworkers : 7 5 6 4 3
10. Explain the different types of correlation.
QUR gRIe] QeaNe QI |
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